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The candidate has to answer 10 questions @ 5 questions from
Section I and 5 questions from Section II. Each question carries
10 marks.

The candidate has to answer all the 4 questions compulsorily from
Section III.

Give the steps of calculation in each question for Section I and II
Calculators, not programmable, are allowed in the examination.

The Question Paper is set in English and! translated into Telugu
language. The English version will be rowsidered as the authentic
version for valuation purpose.
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SECTION 1
ERLT SVl |

Three partners Ravi, Chandra and Shekhar start a business. Thrice Ravi’s
capital is equal to four times Chandra’s capital and Chandra’s capital is
thrice Shekhar’s capital. Out of a total profit of ¥ 16,500 at the end of the
year, what is Ravi’s share ?

OR

A person invests a part of ¥ 15,000 in 12% stock at ¥ 150 and balance in
15% stock at T 180. If his total dividend per annum is ¥ 1,240, how much
does he invest in 12% stock ?

8, S0l Dbk 96 o 5’3)3?{5353 E_J"ﬁé"séxw 2.8 63‘53"6553.)3 Rcden
DED. BD DoBE ek Téw, Teenth B Po|8 E00BE  DrdRm
oy Pol Vad Ipb beod8 Durd Téw. HoHSYTPoSD
Addn erfin T 16,500 wonddd ©ohS® 8D griidod ?

Sor

28 g8 T 15,000 od® §od ridnd T 160, Fdpd 12% FHST Hdok
DADS Kt T 180 THd 159 ST b Iud. o8
Doddyorod orgrodin T 1,240 v, wdd 12% Qﬂéat?s Q0 o)
Tk ?

The difference between comrvcund interest and simple interest on a sum
for 2 years at 12% per anivace, when the interest is compounded annually,
is T 25. If the interesv is compounded half-yearly, what would be the
difference between tlic. .o types of interest ?

OR
The difference between compound interest and simple interest accrued on
an amount of T 25,000 in 2 years is ¥ 640. What was the rate of interest
per annum ?
éoééatﬁé»}ﬁé 2,870 B’ch KJE:SODES?’Q)@, £od Indsmw D ﬁoééao*&).%
12% $& THPd 2 JoddSkwe SESHG Hdok rHdge Fshn T 25.
Ebéf\) @g K}Oéégdéniﬁé) 280 KHofod 1‘.’)L§a’ac§ 0d oD ard:éét)
PEos ?

sSor

T 25,000 S 2 SodEGhvod Ke3od f.sLééczs L0 0% m"daécgeo
PeSEw T 640 wowd, HoHSBEEHE HGTew Jos ?
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8. (a) An Engineering graduate applies for a job in two firms A and B.
Probability of him being selected by firm B is 0-8 and rejected by firm A
is 0-4. Probability of atleast one of his applications being rejected is 0-7.
What is the probability that he is selected by one of the firms ?

OR

(b) Data on a magazine readers show that the proportion of male readers
under age 40 is 0-45 and over age 40 is 0-25. If the proportion of readers
under 40 years is 0-80, find the proportion of female readers under age
40 years.

() 28 DLP|BS 0w A Ddo B o Jok xac;goa‘ A e
S8grdy DBEID. 0d B .‘60?\‘;)3 JodE Javady Dogrdgd 0-8
ooy A HoPI B Bodwd dozragd 0-4. wEd S EIDD0
I8 o8 K)oéx‘:ﬂ 88 Bodak Hogridgd 0-7. © 2025 I8 2.8 éop‘gﬁ
JodE Doy dogrdgd Jod ?

Sor

(D) 28 TEHBE FEHOD DEOOVD Hrordiw A5 5w 40 doddydane
S5 Y LESRY L00 Ko DA rERO woarsdn 0-45 Hdoky
40 ﬁoééad:ﬁnu §a"l J)é:zru“o SoHd o ndia o wdardon 0-25.
40 JodHSyEwe EI%) SEnH HadD Aes PE%Ho eodarddn 0-80 ®owd
40 JohSBIwe Sy SERD Hoka Fo Jy FEHo o S$hn Jod ?

4. (a) The Banker’s discount on some.amncunt for 1% years is ¥ 558 and the true
discount on the same amouni for 2 years is T 600. What is the discount
rate ?

OR

(b) Goods are brought for T 500 and sold on the same day for ¥ 590 at a credit
of 9 months and thus gaining 2-5%. What is the rate of interest per
annum ? ?

(9) Fod Mgin B 11 H0s8Y08 wrgosE crowd ¥ 558 wooky 3
Jodod 2 JodS SEwed edw orond T 600 sownd orond Téw
Qo ?

Sor
(D) ddbod T500 o £ of S 7590 § oy o InFiel 9 ook

odR adn® Led 25% orefdn oB®.  DoHSYTRONL éé
o 7 k
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5. (a)
(b)
()
()

6. (a)

SAE-106

A car owner buys petrol at T 17:75 P, ¥ 18-50 P and ¥ 19-90 P per litre for
three successive months. If the owner spends ¥ 11,000 each month for
petrol, what is the average cost of petrol per litre ?

OR
12 years ago, the average age of a family of 4 members was 26 years. Two
children were born with age difference of 3 years. The present average age
of the family is the same. What is the present age of the first child ?
0¥ 508 abEdrd HEDT drd Iven OLS %)LéS"Bc;nzﬁ: T 1775 .,
T 18:50 . odov T 1990 . 0o 3 w % oduIrD S0
T 11,000 FHpd VS’ FEE pd F25T Do e den 3
Jog ?

Soe

12 Joddyoro (8w 4 Sehgen Ko Hevowdw Gy Diféw 2oH
26 JodSyorew. agd duwn D Hoddyore & =JoW0.
Bosin © SHiwon Babge Vit Bk Erar of (26 SoBE)ED)
Jwe Hoeedhn O3wE) D088 HoXdd e ¥

SECTION X4

gende 1l
\ & ]
Number of Students
Result B
\ Section A |Section B |Section C Section_Q
Students failed in isoth exams 38 33 27 37
Students failed.in half-yearly '
exams but passed in Annual 24 22 18 23
exams
Students passed in -
half-yearly exams but failed 16 27 19 25
in Annual exams
Students passed in both 74 65 56 86
exams ) J
Answer the following questions based on the above table :
(i) How many students are there in the class ?
(ii) Which section has the maximum failure percentage in the

half-yearly examinations ?

Which section has the maximum success percentage in the annual
examinations ?

(ii1)
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(b)

SAE-106

(iv)

(v)

Which section has the maximum pass percentage in atleast one of
the examinations ?

If number of students passing the examinations is considered as
criterion for comparison of difficulty level of the two examinations,
which examination is more difficult ?

OR

Production of three different flavours of a soft-drink by a company over
six years (in lakh bottles) is represented by the following diagram :

60 60 60 60
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Answer the following questions based on the above diagram information :

(1)

(ii)

(iii)

(iv)

(v)

For which year is the percentage of relative gain or fall maximum
in the production of flavour X ?

For which flavour is production maximum
6 years 7

in the given period of

Total production of flavour Y in 2001 and 2002 is what percentage
of the total production of flavour Z in 1999 and 2000 ?

What is the difference between average production of flavour Y in
1999, 2000 and 2001 and average production of flavour X in 2002,
2003 and 2004 ?

What is the percentage of decline in the production of flavour Z in
2004 when compared to 1999 ?

5 P;T.0.
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(D) wdH DodSySdwods® af Do Gy Bk 30gs  Tdden  Heo
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(i) 2001 HBo¥n 2002 HOSFYEILOS® Y e o Foohin G
Bogsn a3)8 Z T o FJohdw ) 1999 Ldon 2000
HoHENBEOSTD Fogdw &818S° Jod & 7

(v) 1999, 2000 do¥y 2001 ©&° Y &dd do DedHoYrdn Hdo¥w 2002,
2003 B0k 2004 o8 X add o JJoive dfw &)
Fesos ?

W) Z s Ho FHobin o) 2004 H DodSS GEHBI 1999
BoHSYBHW d‘sésgé‘ POYS, Sdibde Sy Do 7
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7. (a) Distribution of area (in acres) under various crops 1is shown in the
following pie diagram :

Answer the following-questions based on the ‘above pie diagram :

(i) Which combination of food crops contribute to 60% of the total area
under. toad” crops ?

(ii) If total area under Bajra was 1-5 million acres, then what was the
area under wheat ?

(iii) If production of Rice is 6 times that of Barley, what is the ratio
between the yield per acre of Rice and Barley ?

(iv) If total area goes up by 5% and area under Rice production goes
up by 12%, then what will be the angle for Rice in the new
pie-diagram ?

OR

SAE-106 8



(b)
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Ratio of Exports to Imports of two companies over 6 years (in ¥.crores) is
given in the following figure.
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Answer the following questions based on the above graph :

(i) In how many years were exports more than imports for Company
CA?
(ii) For Company B, which year has the maximum difference between
imports and exports ?

(iii) If exports of Company A in 2004 were ¥ 250 crores, what was the
amount of imports that year ?

(iv) If the imports of Company A in 2003 increased by 40%, what
would be the ratio of exports to the increased imports ?

(v) In 2001, exports of Company A were twice that of Company B. If
imports of Company A during that year were ¥ 200 crores, what
was the approximate amount of imports of Company B during that
year ?

9 P.T.O.
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8. (a)

(b)

(<)

e

SAE-106

Each of the following sequences follows a definite pattern. Fill in the
blanks to complete the sequence without breaking the pattern.

(i 1,6, 13, 22, 33,
(i) W,V, T, S Q P, N, M,
(iii) OTE, PUF, QVG, RWH, o

‘“) l’ 67 =2 [
0

means X, ‘=’ means - and ‘X’ means ‘+’ then

(iv) If ‘4’ means
8+674—7x3

(v) 2| o
125 | 64

OR

(i) In a certain code, SIKKIM is written as RHJJHL. How is
TRAINING written in that code ?

(ii) If GIVE is coded as 5137 and BAT\is coded as 924, how is GATE
coded ?

(i) In a certain language, if 945 12.coded as BED and 12448 is coded
as SWEET, how is 492411 coded in that language ?

Gv) If “book” is called “watch’y “watch” is called “bag”, “bag” is called
“dictionary” and “di‘tionery” is called “window”, what is used to
carry books ?

(v) Give mirror.iniag= of the word “MONDAY”.
(Bod adgadd| (@B ([Fedd 28 pdyEDD (Xddw Sok, o (o
éa’)aéooa‘ a_“{‘c)é.) E{)_y"ﬁo?’.g)z.’m.

) & ?V-1 \/3

(i) S, Q PN
(iii) OTE, PUF, QVG, RWH,
(iv) 4 eodm ‘&, < eodmr W, ‘T odmr “ 8oy K edr 4

OOV 8 + 6 + 4 - T x 3 =
(v)

Boo

12
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9. (a)

(b)

SAE-106

(i) 28 oTBY rddS® SIKKIM ed H&&ud RHIJHL ©d (303,
TRAINING & HSHwd Ot [@roddsd ?

(i) GIVE o HSwdo 5137 ©d 00y BAT o HShnd 924 =
8% vk, GATE e HSdwd o dddwm 55 BogHB ?

(iii) 2% JoB8E o2rdS® 943 & BED e, 12448 & SWEET e &6&
THDHE 492411 D Q Sdwmre & JogHBo ?

(iv) “PIZLw” D “UBordiw” @, “ABofrddw” L “Hod” e,
“50D7D “VpotuR)” ©I), “VPondy”’ D “B888” ©d 1ODINH
e S BED FHvE I sdIrRoSS ?

(v)  “MONDAY” & I&50d% odind® [@HaDowdnd (&0 aXodn.

Each of the following sequences has a deﬁmte pattern. Fill in the blanks
without breaking the sequence.

i) 2, 5,9, , 20, 27

) Z,U,Q ___ ,L

(iii) fA+B>C+D, B+E=2CandC + 9% B + E, then
A+B=>

(iv) If ‘L’ denotes <, ‘M’ denotes ‘%', ‘P’ denctes ‘+’ and ‘Q’ denotes
then 16 P24 M8Q6M2L3 =

(v)

OR
(1)  In a language NATURE’ is coded as ‘MASUQE’. Then how is the
- word ‘FAMINE’ coded ?

(i) In a code language ‘123’ means ‘hot filtered coffee’, ‘316’ means
‘very hot day’ and ‘689 means ‘day and night’, then what digit
stands for ‘very ?

X N
=)

(iii) Give water image of

(iv) If ‘orange’ is called ‘butter’, ‘butter’ is called ‘soap’, ‘soap’ is called
‘ink’, ‘ink’ is called ‘honey’ and ‘honey’ is called ‘orange’, then what
is used for ‘washing clothes’ ?

(v) If ‘SHARP is coded as ‘68034’ and ‘PUSH’ is coded as ‘4658, then
what is the code of ‘RUSH’ ?

13 P.T.O.



(D) (808 adgadd D8 [FS8 28 DSBS 1Fhdw dodh. u (Edw
$yHoae el Hrooiv.
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()
(ii)
(iii)

(iv)

(v)

(1)

(i1)

(iii)

(iv)

(v)

2, 5, 9, , 20, 27
Z7 U) Q)

A+B>C+D,B+E=2C%000C+D>B +E, wondS
A+ B>

L

3

L efdin X &, M ofddn ¥ &, P ofddn + & ook ‘Q
©Z5h0 0 & HrdodddE 16P24M8Q6EM2L3 -

3o

2.8 2°0S® NATURE, vl HEE0% ‘MASUQE o §°& IudHd
FAMINE e S50, 008y, &8 Dwes ?

w8 PoBRL 2T AS® 123 @dme B D
S8 @ Lo bow 689 edm B e
HSEND HrDoW @08 28 ?

58 ©d, 316’ wdm I

22
08 3¢ wowdHd I I

o] € % I8S” (H8Dowdn (@ oK.

Edordoiw’ o D) @, DY) & Vewy @, Veny D VoY e,
oY » I 0 Dok BI L BhorHodw e, DOVIH®
when ‘GHHOE A RS ?

‘SHARP' o 550 ‘58034’ md, ‘PUSH’ o HSHw & 4658’
i 86 IwdpHd RUSH Gwg) §6 QD ?

14



10. (a) The following information was provided by an investigator who interviewed
1,000 students. 811 read Hindustan Times, 752 read Statesman and 418
read Times of India. 570 read Hindustan Times and Statesman, 356 read
Hindustan Times and Times of India, 348 read Statesman and Times of
India and 297 read all three papers. Is there any inconsistency in the
above information ? |

OR

(b) 1,000 persons in a European country were interviewed by an investigator
to find nationality of the music they liked. The following results were
obtained. 570 liked English music, 650 liked French music, 480 liked
German music. 440 liked English and French music, 360 liked French and
German music, 240 liked English and German music and 125 liked all the

three nations’ music. Is the information consistent ?

(Q) 1,000 508 g oo HOFEH  TFd ¥ J0FEHd  (8od
PO T EINIT Y. 811 08 oS . Basy HBE IOISD, 752 od
DEYDS HBE IOBLL WO 418,500 BHY 6§ a0d0%e SOISD.
570 $08 oS BE) Hivh DEHDS IOISH, 356 Hod
o By doy By W 080 DOIBS, 348 Hod WEYS
0o By ©d =odeh SOISLH HdoXw 297 od D DH@Eer
WOSEH. &1 Hrordind® I edoudd oo ?

Soe

(D) 28 DOFEHB NrdSSTD ¥ FHwS® 1,000 Lod DgHedn 0 3%
Bofd (D8 HdoD JrBod S 808 BHrrdin HEOODHHADH. 570
08 @ohdn Sofidhnd, 650 o8 (Hod Johsind, 480 Hod EIHN)
Dohdind aRhBB. 440 Dod w0fiRe LB (oS Hohshnd, 360
2008 (H00 oo 2HS Johddn, 240 Hod R0AH WO S9N
Sofiddmin wbatw 125 Bob durdh d¥dwe SoAshwd wRHA6. &
DR IR0 K)O&%Sé £0A5 7

SAE-106 15 P.T.O.



SECTION III (4 % 12% = 50 marks)

eifSn 11

Read the passages and answer the five questions on each passage.

11. India has made an impressive progress in narrowing gender and social gaps 1n
primary education. Progressive policy, sustained public financing and civil
society’s determination have contributed to the improvement. But the persistent
achievement gaps in secondary education between boys and girls and across
subgroups underscore the need to reassess educational policiés affecting
under-represented groups. The implications for policy are clear. First, India
must complete the task of bringing primary education to all. With only 7
percent of children now out of school, the government must deal with the most
marginalised and hard to reach. Targeted demand-side interventions addressing
the needs of each subgroup are needed to bring all children into the school
system and keep them there. Second, India must raise student achievement in
primary schools. Without a solid formation, girls 2nd other marginalised groups
cannot compete at the next level, and they lose out in the labour market. Early
childhood interventions can improve school ‘rezainess, compensatory education
and language instruction for students whoue first language is not that used in
school. More and better teacher educotion and in-service training are essential
to address girls’ learning needs. Tuira to achieve gender and social parity in
secondary education, India mus? improve its public schools. Because parents are
reluctant to pay to senc “iir daughters to private schools, improving
government schools will-pive girls from poor or disadvantaged backgrounds 2
better chance to succect: Although using vouchers and stipends is an option
where the supply of private schools is sufficient, this alternative is unrealistic in
remote, rural areas. Government schools remain the provider of last resort for
marginalised groups.

Questions :

(a) Suggest policy changes for reducing gender and social gaps in education.
(b) Give two important suggestions to provide primary education to all.

(¢) In what way will the teacher training improve the quality in education ?

(d) What are the reasons for parents not preferring their girl-children being
sent to private schools ? ‘

(e) Which one do you prefer, improving the conditions in government schools
or giving stipend to students to encourage them to go to private schools ?
Why ?

SAE-106 16



Q0D Do TelOL  (passages) $ID, o BMSS Fu)d 2 (%) 0
QDdTrcredsdven (s oow.

88 Do | GE Sy g’ Mg@bg@*w, TErEE Sgeredeen
SR0BB0S" KPP (DS FBoDod. (HKBRe Dgraren, BTH (Hhee
388 Dapades Dbak FE Hira IgeSH @i)émaémm
Sregd D058t o o850 bk alitetio D088 BFABe
Bgengd) KIS, (DBISe BD bgrei Berdso Fomes Wi
AR o HOBDOBHOVD  wdhgES  SyadHBod. Igraredod
©B0T |(Herarer dydore BT 00, INYINEL, |FEDE Asg TF0S° wocsds
Colertad's Brd. [BHipstn D Tk duek Hr($H Ny voteress”
S, PP (HSEn e ZDEdS ook DK wothertnd I8 v
BEoD )R Foomrd. (DB 2 DSdworad WHEGENL, SynS* G0HED,
wrordF0osd) Jargdarddn SIS BRHHD (@WWS® soder Joxrd.
Coddd rdd THWS® | FBDE FTost Db adler PEdd Domrd.
K8 o6 B%o8 8w Hbaty Sdgnah amom&aa Frons®
D)QoITEH ook &8 (TN LrByNS $HPse . 2 Ogo 5"&)&5%6‘3
(Dalh seEg|&hren Fdbode Dpien w38 D Godod s°E HOSForE¥
(compensatory) iS¢ OoXy arap D/ DOPOB WL &y
PO oo HE N, 23S $HBrAo (PDE RSt @by
HgEe;) S (Dabavo Ho JrooTHH Y. wrde T EHIT O LT
Gargrgaeo DTS Lé@gé 3L VB0, Larddo, BrgnE 3)65568 ok,
Foras JHrdd Dorobohed S Tio (DeHde FITood SN
DETD. Jo%EdHT SDSoden S SrBo B85 den) pdyng wydw
(B268388) aho dopus: Dvpds SrdS0ds BE Dok i
Sgo Dol daghsrror E0A0D HIHD) TawbdH By Sswoc
BDDET OV 0dHI8dw dobd. D Agdoen PR FETOST SSSEIS
FTIH, ads8 Idren BT wdsHo GHDYB8, & (Bergdrmalo (s,
Grd |[Fozrod’ e oarddEo eHSod. SSwdd DroBH  (Hbee
FETod Aigh wosod DHO whHsHom GBI 0.

SAE-106 17 P.T.O.



($%y00 :

() &R, Fdrey Sgergren SRodaId SgS® SAD b Byl
QrRowidw.

(D) ©os08 |Ew¥ D5 ®oBoU@IE Tod dwpg HrSHeOR DHE k.
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12. The Indian Government, committed for the uplifinient of the poor and weaker
sections of the population, has been impleménuing development programmes
since independence. Swarnjayanti Gram Siva ozgar Yojana (1999) aimed at
helping poor rural families cross the povéry:line by assisting them to take up
income generating economic activities.through a mix of bank credit and subsidy.
A few other initiatives include the introdvction of National Food Security Bill in
the Parliament, Indexing wage iaves under the Mahatma Gandhi National
Rural Employment Guarantee' aA-t to consumer price indices for agricultural
labour, introducing pre-metziz scholarships for students belonging to Scheduled
castes and tribes and expatnding the scope of Rashtriya Swasthya Bima Yojana
— state health insurance scheme.

Swarna Jayanti Shahari Rozgar Yojana (1997) intends to provide gainful
employment to the urban unemployed and underemployed by encouraging the
setting up of ventures of wage employment. The Government of India has
implemented a scheme under Jawaharlal Nehru National Urban Renewal
Mission (JNNURM) in 63 cities having population of more than 10 lakhs
focusing on the integrated development of mega infrastructure and services for
the socio-economic growth of the country. It is agreed to ensure public-private
partnership under JNNURM in Solid Waste Management sector, followed by
Sewerage and Water Supply and Urban Transport. Integrated Development of
Small and Medium Towns scheme has been subsumed in the new scheme of
Urban Infrastructure Development Scheme for Small and Medium Towns since
2005 - 06. No allocations are being provided now under the Scheme and the
residual work is being attended.
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While the action plan for controlling black money is expected to send out a
positive signal on corruption, announcing transfer of cash subsidies to the poor
is expected to do the same on delivery of public services. Subsidies provided
through the budget on refined petroleum products [e.g. kerosene and liquefied
petroleum gas] have often been criticized for their inability to reach the
targeted beneficiaries. But providing direct cash subsidy to the poor for availing
these commodities will serve two purposes. First, only the poor will benefit
from the facility as intermediaries will be removed. Second, the subsidy bill in
the budget will be reduced leading to a reduction in revenue and fiscal deficits
of the Government. The effectiveness of the system will depend upon accurate
identification of people below the poverty line. This is not easy in a huge
country like India. The Government’s long-term plan may be to identify the
targeted people for subsidies.

Questions :

(a) How do you consider income generating programme as a development
programme ?

(b) Distinguish between the nature and type of Swarnjayanti Gram Swarozgar
Yojana and Swarna Jayanti Shahari Rozgar Yojana.

() Can the public and private participation ziisure integrated development of
mega infrastructure and services in urkan areas ?

(d) Does the provision of direct cash twhsidy to the poor ensure their availing
kerosene and liquid petroleum‘gas

P

(e) Suggest suitable measures {cv-'he accurate identification of people below
the poverty line in India,
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13. Human trafficking in India, whereby children are traded for criminal acts,
points to organised trafficking gangs. Children are not only used as slaves, but
are also being used as modern day criminals to inflict violence on others, for
theft and robbery — an issue that has not often drawn public attention as of
yet.

According to the National Crime Record Bureau, 32,681 juveniles are arrested
by the police every year in India on charges of murder, rape, dacoity, robbery,
burglary, theft, hurt and other crimes. Six percent of them are girls.
Poverty and illiteracy were the two main causative factors behind this. In all,
27 percent of the arrested juveniles were illiterate, 37 percent under primary,
72 percent from the BPL families, 6-8 percent from the middle income group
and 02 percent from the high income group. The ill-effects of juvenile
delinquency can be mitigated if the fundamental principles for the
administration of juvenile justice are put into practice.

The amended Juvenile Justice (Care and Protection) Act empowers the Juvenile
Justice Boards (JJBs) to take cognizance of acts of cruelty against children.
Yet, neither the Police nor the Boards have bothered to look into the
involvement of organised groups or non-organised individuals. It is essential for
the authorities to prepare Social Investigation Reports' (SIRs) and Social
Background Reports (SBRs) of children involved in srich “cases to assess the
quantum of child abuse. In cases wherein SIRs an< SERs confirm the role of
adults, it is imperative for the JJBs to act against such adults so that no child
is exploited for his/her vulnerability and then he punished for it in the future.

Hence, it can be concluded that trafficking(in human beings especially children
is a form of modern day slavery and reqiuses a holistic, multi-sectoral approach
to address the complex dimension of ii.e problem. It is a problem that violates
the rights and dignity of the visvims and therefore requires, essentially, a
child’s rights perspective while svarking on its eradication. In the fight against
trafficking, government organisations, non-government organisations, civil
society and international bodies; all have to play an important role. Law cannot
be the only instrument to take care of all problems.

Questions :
(a) What are the reasons for child trafficking in India ?
(b) What are the charges under which police are arresting children ?

(¢) What solutions do you suggest to improve the economic condition of poor
parents ?

(d) What is the role of the government to address the problem of juvenile
delinquency ?

(e) What role can civil society play to prevent child trafficking ?
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14. The relevance and usefulness of content to meet the local needs of people are
very important in making a creative use of technology for achieving the
developmental goals. There are several projects in India that focus on a pro-poor
approach in service delivery. One of the initiatives is given below :

Housing for the Poor : India has an ambitious programme to help poor
households in acquiring a low cost house. There ar( s:nemes involving large
subsidies to construct these houses for the poor. Cansidering the very large
number of beneficiaries in these schemes, there  always exist some possibilities
of wrong targeting and misuse of subsidy. ‘4. wen-enabled system gives project
management and MIS support to the executing body in the government, and
also enables equal access to citizens, berericiaries and civil society in obtaining
information. This system can be usco o get up-to-date information about a
beneficiary, stage of construction ¢f.a louse, details about the money released
as subsidy, materials supplied. by the executing agency, and relevant
photographs that can be easily uploaded. This governance initiative results in a
high degree of transparency and accountability of government functionaries
towards the poor.

Questions :
(a) What according to you is governance and good governance ?

(b) List out some of the other schemes in which technology can be used in
India.

(c) What is the role of technology in governance ?

(d) Advice the government in developing mechanisms for better citizen service
delivery using technology. '

(e) “It is said that technology replaces human resources thus leading to the
wastage of abundant resource in the Indian context.” Comment on this
statement and suggest remedies for the same.
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